Tender Heart High School,Sector 33B, Chd

Class 9th

Mathematics Ms. Reena
Date 26.8.2024
Question 1 e
(W If +b'+c> =89 and  ab- be —ca =16
find a+b & ’
(b) Facf\ 1se

3a*b - 8la'h

() ABCD js g }:araﬂﬂe_fo(?ram - ?
X,Y are mid - points " of X ‘4
AD>, Bc resbec.éiveﬂar. 'Q y
Show that AP= PQ= Qc

A 8
() Solve - c¢i> 32*t' =1 (i) ax 3%= 2 e

Que_sfionZ
(@) Expand (3> - I +5)%

~ 2.2

Lb) Fac'f:or Ise

x2® -8

(©) What sum of meney w U amoeunt Lo TF8Yo
in Zaear.s at 125 ker annum, c,om}a'ounafec{

annuaﬂfb; 9
Question 3
@ Expand [2x - 3 _1)1
- 2

(b Factorise 8x>- 2%

(c) 1 F6Yoo is invested at 6;3 % b.d., Corr;boundf

in{:e.re.st then -Pr'nd (> the o«mcani af:tcr 23’3
(i) compound interest in 2 years .
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Class 9 Mathematics

Question 4
@ Expand (5x - 3¢)3

(b) The sum of two numbers is 69 and their
diflerence is (7. Find the numbers.

©) Given Y+ 3 = a—bJE, ﬁi'nd Q andé
3+/5

Question 5
(@ Factorize B5¢® + Fse =B

(b) If >x-L =3, evaluate x*-L,
o oC

(C) In an eguilateral érr’anﬂe agc , if ADLBC,
prove. that 3@R)* = Y (AD)*

Question
@ I a*-sa+1=0 and a#o ,fnd a*+L
(b) In the given ﬁigure_, the .ﬁan(?#) L,-',D
O‘F AB is 12em, ¢ D is qcm} AC is 1Bcm. lcm
If 2R8> = ’?O'/ —£1nd» bhe le’%?% y c
O‘P AD. /&’Jd‘\
3 A B

(C) Rebrekﬂ‘t the ‘teolfowirg on number .éme.
i Z an -9
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| C.Qass q ” Mathematics Ms. keena

Question 7
@ Ex]pre.ss 2.17 as a rational humber in the
simplest form, p

—

Z
(b) At what rate be.r centl ,be.r annum uﬂjﬂ a sum
02 Z Yooo gleﬂ_CJ T 1324 as Ccamfoound interest

in 3 years ?

Question 8

@ Factorise 5 (344 bY* +6(3a+b) - 8

(b) F]Ymnae_ the ﬂoaowinoq in de,scendz'rg or/er
6z, 2§16 , 2,43

(c) s.m;ﬂfa < )-—n (___) )e_m

Question 9

@) In the given ﬂf(qure_ ) B }r'-'
AB=EF, AL=Me and \
ZA=<2E =90
Prove. that LF = mB 1
A L m E
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Class 9, Mathematics Ms. Reena

(b) E:x—bress 1.22 ws a rational number in the

Sim})‘!esi ﬁorm, b .
(C) How much will a.zsum 0l T 6000 amount #o

in 1-%_ Jears at oY fer annum compound interest

interest be,iné ‘bcgab_ﬂe_ Aald - atearidr?

Question {o
@ ¢ a and b are rational numbers, Pird the volues

o a and b from the ﬂoﬂow;»y eguaﬁ'on
3-J2
(b) What sum of money will amount to & 3327.50
in 3 years at 10" p.a.?

© The mid - points of the sides of a rhombus are
Joinec{, Conse.cufl'l/e{_y . Prove. that {:h% uadrilateral

thus Jormed (s a r‘ecfangfe, s R
2d c
P BQ

Question 11

(b) Sim}»ﬂfﬁ& Y3 — 335% + 4Ji92 — 37355
&o{‘e : AL terms are cube roof{/
@) and the amount of the com}ooqrd, interest on
e 15000, com}?ounded anhn udlcur{ at the rafe.: 012
interest 5 /o i 8°/» and 10, for three consecutive
years re.sbed:‘veﬁg.
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